Test Booklet Code B

This booklet contains 12 pages.

ME - 2006

Test Booklet No. 3 4 8 2 1 0

DO NOT open this Test Booklet until you are asked to do so.

Important Instructions :-

1.

14.

15.
16.

. No candidate, without special permission of the Superintendent or Invigilator, should leave;
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1. What is the equation of the auxillary circle of 216—6- - y? =17
A) 2% +y%=9 B) x2+y2=25
C) x%+y%=17 ' D) %2 +42=16

2. Find the equation of tangent to the hyperbola 4x2 - y2 = 64, which is parallel to the
line 8x —6y +11=0.
A 2x+y=1 ~ B) Tangent does not exists
C) 3x+y=1 ‘ : D) x+3y=1

3. For non-zero vectors ¥,y e R3 if x-y =|x|- |y|, then what is X xy = ?
A) 0 - B) Unit vector
C) o D) |%]|7]

~ Lim (Cosa)" +(Sina)" -1
4. Obtain ,_,9 -2

, where (0<0‘<%)

A)  Sin®a Log, Sina - Cos® a Log, Cosa B) Cos®a Log, Sina —Sin®a Log, Cosc.
C) Cos®a Log, Cosa - Sin®a Log, Sina D) Cos®a Log, Cosa + Sin®a Log, Sina

5. For the unit vectors @ and j, if @ +b =0, then what is @ .5?

A) 1 B) 2
C o : D) 1

(Space for Rough Work)
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What is the area of AABC if AB=7 +2j +3% and AC =-3i +2j+k in AABC?
A) 35 B) 3% 5
C) 45 D) 5.3

What is the magnitude of the resultant force of the forces (1,2,-1) and (-3,0, 2) ?

A) 5 B) 5
C) 9 D) 3

If fx) =25+ 2% 4 2%%2 4 4 9%*9 then find f(2)

A) 2* Log?2 B) None of these

C) 1023 Log, 16 . D) 1023 Log, 2

What is the direction of the line passing through ‘the p(;ints (2,1,3) and (8,2,-1)?
A) (-1,-1,4) B) (1,1,-2)
C) (1,1,4) D) (-1,-1,-4)

What is the equation of line passing through (1 2,3) and perpendicular to
3x +4y-52=6 ?

x-1_y-2 3-z ' x-3 _y-4 _z+5

A =TT B = 2 3
1-x _y-2 _2-3 x-1_ 2-y 3-z
€ 73 4 -5 D =5 =477
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11.

12.

13.

14.

15.

AB-2

z
What is the perpendicular distance between 2x +2y -z +1=0 and x +y — 3 +2=07?

A) s
C) 2

B) J2
D) 1

What is the radius of the sphere whose extrimities of the diameter are (1, -1, 1) and

(-1,1,1) ?
A) 242
C) 3

Find [e3[°8* (x4 + 1)_ldx
A) —Log (x4 +1) +c

C) Log (x4 +1)+ c

Lim  SinJx s

x >0t 4y
A) 1
C) o
Lim f(Cosx) _ 1-x
x_)o"—x?——? Where f(x)‘1+x
A) L
4
1
C) 5

B) 1

D) 2

B) None of these

D) 4l Log (x4 +1)+c

B) Does not exists
D) 1

B)

D)

Wl O

(Spaée for Rough Work)
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16. If {x/ |3x1+ 9] 5% ;XeR ""(_%)}, then what is the complement set of this set ?
o 6 %) o (%01
o R-(1, 75) D) R-(751)

17. 4 [Sec_1 ezx]= ?

dx
2 2

A) 4 _q B) o b4 g
1 1

C) [l % D) 1 — ot

d Tan-1 xta )| _,
18. e |1 l-ax ||~ (Where x € R* (g e R*, ax<1)

1 | 1

) 1+a® %2 B) 1+a?x?
1 -1

©) 1+x2 ) D) 1+x2

19.

&l

[NRRS |
)

C) J4 D) 0

20. If there remains an error of 4% in measuring the area of a circle, then what is the
error in percentage in the radius of a circle ?

A 6% B) 8%
C) 2% D) 4%

(Space for Rough Work)
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21. If (2,3) lies on y2 —ax3 + b, slope of tangent at (2,3) is 4, then what is the value
of a?
A) -7 ' B) 7
C) 2 D) -2
929. What is the rate of change of the volume of sphere w.r.t. its surface area when its
radius is 2 units ?
A) 92 units . B) None of these
C) 1 unit D) 3 units
23. Ie—zLogxdx =9? (where x #0)
1 2
A) ——+c¢ B) ——+¢
x x
1 x5
c) —+e¢ D) - +t¢
X 3
24. I(Sin'1 x + Cos™! x) dx =7
Tx
A) x+c B) - +c
C) Not possible D) Ezf_ +c
3Tan§ — Tan® 263—
dx =7
25. 1-3 Tan? d
3 .
A) -Log|Cosx| +c B) Sec’x +c
C) Log|Tanx|+c D) -Log|Secx| +c
(Space for Rough Work)
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27.

28.

29.

30.

AB-2
% (Sinx)2006 de <9
X =1 -
0.(Sin x)2006 + (Cosx)2006 , -
T
A) 9 B) None of these
. \2007 z

C) 2006 -(Smx) D) 4

'}f 1 de = T
If 3 " 12, then what is the value of £?

V2 xqx®-1
A) o B) 1
C) -2 ' D) o

a
If f f(x)dx =m and fx is an even and continuous function defined on [a, a], then
0

evaluate f f (x)’dx (a € R+)

-a

A) 2m _ B) o
C) my D) m

Find the degree of (y2 )2 - \/}T = y3

A) 3 B) 4
) Y D) 9

A particle is moving with a uniform acceleration. If it covers a distance of 7.25 and
9.25 meters in 5% and 9t seconds respectively, then what is its initial velocity ?

A) 55m/s B) 7Tm/s
C) 10m/s D) 5m/s

BOOKLET B [8] .
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31. For right angle triangle ABC, AB = AC. What is the circumcentre of AABC having
the vertices are A(l,l),B(5,1),C(1,4)? R
A (3.%) B) (3,1)
o (1.%) | D) (6,5)

32. A(2,—3) and B(-5, 1) are two vertices of the AABC. Its centroid is on x-axis and

. yertices C is on y-axis, then find the co-ordinates of C.
A) (2, 0) B) (0,2)
c) (0,- 2) D) (-2, 0)

33. If A(11, 7), B(-1,k) and C (5, ~1) are the vertices of AABC and m £ACB = % , then

what is & ?
A) % B) None of these
C) -5 ‘ D) 5

34. Obtain the angle between the lines {(x,0)/x¢€ R} and {0,9)/ye R}

T
A) D) B) 0
C) D 3”2—

35. If kx+2y-1=0 and 6x —4y +2=0 are identical lines, then determine k.

A 6 | ' B) %
C) 3 D) -3

(Space for Rough Work)

BOOKLET B (91

.
Qcollegedunlas
India’s largest Student Review Platform

~



36.

37.

38.

39.

40.

AB-2

Line 12x + Sy +60=0 intersects the axeg in A and B respectively, then what is the
equation of the circle whose diameter as A5 ?

A 2?4 y% 5y 119520 B) 2%+ 5% 450412y =0

C) x2+y2—5x—12y=0 | D) x2+y2+5x—12y=0

If (1, 2) is the centre of a circle passing through the point (4, 6), then what is the
length of a circumference of this circle ?
A) 257 , B) None of these

C) 5z D) 10z

a parabola y2 =dqy ?
A) t=3 B) t=-

C) t=-Y D) t=1

rectum of 2 - 12y ?

A) 36 B) None of these
) 9 D) 18

. . . . . x2 42
F1nfi the length of major axis and its eccentricity of 16 +>£ =1,
A) % and % B) None of these

C)5/2and\/% D) 10 and 3
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